Recognized Obligation Payment Schedule (ROPS 19-20) - Summary Filed for the July 1, 2019 through June 30, 2020 Period

Successor Agency:	Mission Viejo
County:	Orange

Current Period Requested Funding for Enforceable Obligations (ROPS Detail)		0A Total December)	19-20B Total (January - June)	ROPS 19-20 Total	
Α	Enforceable Obligations Funded as Follows (B+C+D):	\$ - \$		\$	
В	Bond Proceeds				
С	Reserve Balance		# 1		
D	Other Funds				
E	Redevelopment Property Tax Trust Fund (RPTTF) (F+G):	\$ 833,250 \$	840,750	\$	1,674,000
F	RPTTF	708,250	715,750		1,424,000
G	Administrative RPTTF	125,000	125,000		250,000
Н	Current Period Enforceable Obligations (A+E):	\$ 833,250 \$	840,750	\$	1,674,000

Certification of Oversight Board Chairman:
Pursuant to Section 34177 (o) of the Health and Safety code, I hereby certify that the above is a true and accurate Recognized Obligation Payment Schedule for the above named successor agency.

Name

Signature

Title

Date

Mission Viejo Recognized Obligation Payment Schedule (ROPS 19-20) - ROPS Detail

July 1, 2019 through June 30, 2020

(Report Amounts in Whole Dollars)

	(Report Amounts in Whole Dollars)																					
А В	С	D	E	F	G	н	Ĭ.	J	к		L	М	N	0	Р	Q	R	s	т	U	v	w
												19-20	A (July - Decer	nber)				19-2	0B (January -	June)		
													Fund Sources						Fund Source			
		Contract/Agreement	t Contract/Agreement	1			Total Outstanding		ROPS 19	-20		Reserve	Tuna cources			19-20A		Reserve	Tuna oouroo	ř – –		19-20B
Item # Project Name/Debt Obligation	Obligation Type	Execution Date	Termination Date	Payee	Description/Project Scope	Project Area	Debt or Obligation	Retired				Balance	Other Funds	RPTTF	Admin RPTTF	Total	Bond Proceeds	Balance	Other Funds	RPTTF	Admin RPTTF	Total
		****					\$ 17,884,989		\$ 1,67		0 \$	0	\$ 0 5	708,250	\$ 125,000	\$ 833,250	\$ 0	\$ 0	\$ 0	\$ 715,750		\$ 840,7
1 1999 Variable Rate Demand	Bonds Issued On or Before		9/1/2028	BNY Mellon Corporate	Bond Pledge	1	16,365,037		\$ 1,40	00,000				700,000		\$ 700,000				700,000		\$ 700,0
2 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project	OPA/DDA/Construction	2/20/2012	9/1/2028	Stradling Yocca Carlson Rauth	OPA-Bond/Covenant Compliance			N	S							\$						•
4 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project	Fees	7/1/2010	9/1/2028	HdL Coren & Cone	Net Tax Increment Calculations per Pledge Agreement		165,000	N	\$ 1	16,500				8,250		\$ 8,250				8,25		\$ 8,2
7 Camino Capistrano Bridge Improvements	OPA/DDA/Construction	2/20/2012	6/30/2033	Stradling Yocca Carlson Rauth	Project Development	1	50,000	N	\$	-						\$						S
8 Camino Capistrano Bridge Improvements	OPA/DDA/Construction	9/4/2002	6/30/2033	Davis Company	Economic Planning	1	50,000	N	\$	-1-						\$						S
24 Owner Participation Agreement - Kaleidoscope	OPA/DDA/Construction	10/30/1995	6/30/2024	Stradling Yocca Carlson Rauth	OPA-Covenant Compliance	1	0	Y	\$	-						\$						S
27 Administration	Admin Costs	2/1/2012	6/30/2033	City of Mission Viejo	Administration	1	250,000	N	\$ 25	0,000					125,000	\$ 125,000					125,000	\$ 125,0
33 Camino Capistrano Bridge Improvements	Improvement/Infrastructure	1/27/1993	6/30/2033	Contractor	Construction of Improvements	1	939,052	N	\$	-41 T						\$ -						S
37 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project	Bonds Issued On or Before 12/31/10	7/1/2014	6/30/2019	Arbitrage Compliance Specialists, Inc.	Arbitrage rebate calculation	1	5,900	N	\$							\$						S
45 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project)	Fees	7/1/2014	12/31/2019	City of Mission Viejo/KNN Financial	Variable Rate Bond required Letter of Credit renewal related services and other mall bond consulting services	1	0	Y	\$							\$						\$
58 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project)	Bonds Issued On or Before 12/31/10	5/1/1999	9/1/2028	BNY Mellon Trust	Bond Trustee fees	1	60,000	N	\$	7,500						\$				7,500		\$ 7,5
61 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project)	Bonds Issued On or Before 12/31/10	5/1/1999	9/1/2028	HdL Coren & Cone	Letter of Credit Renewal	1	0	Y	\$						É	\$						\$
62 1999 Variable Rate Demand Revenue Bonds (Mission Viejo Ma Improvement Project)	Bonds Issued On or Before 12/31/10	5/1/1999	9/1/2028	Quint & Thimmig or Succeessor	Letter of Credit Renewal	1	0	Y	\$							\$						S
63 Mission Viejo Housing Authority	Housing Entity Admin Cost	2/21/2011	9/1/2028	Mission Viejo Housing Authority	For the ROPS 15-16A and 15-16B periods	1	建产业	Υ	\$		VALUE OF					\$			表示。长			S
64 Mission Viejo Housing Authority	Housing Entity Admin Cost	2/21/2011	9/1/2028	Mission Viejo Housing Authority	For the ROPS 14-15A and 14-15B periods	1		Y	S	-						\$			PERSONAL PROPERTY.	FFG.		S
65 Mission Viejo Housing Authority	Housing Entity Admin Cost	2/21/2011	9/1/2028	Mission Viejo Housing Authority	For the ROPS 16-17 period	1		Υ	S							\$						S
66 Mission Viejo Housing Authority	Housing Entity Admin Cost	2/21/2011	9/1/2028	Mission Viejo Housing Authority	For the ROPS 17-18 period			Y	S	9:3						\$						S
67 Litigation Settlement	Litigation	2/1/2018	9/1/2028	City of Mission Viejo	Litigation Settlement	100000000000000	A DESCRIPTION OF THE PERSON OF	Y	\$							\$ -				Telephone State		S

Mission Viejo Recognized Obligation Payment Schedule (ROPS 19-20) - Report of Cash Balances July 1, 2016 through June 30, 2017 (Report Amounts in Whole Dollars)

funding source is available or when payment from property tax revenues is required by an enforceable obligation. For tips on how to complete the Report of Cash Balances Form, see Cash Balance

С	D	E	F	G	Н					
	Fund Sources									
Bond P	roceeds	Reserve Balance	Other Funds	RPTTF						
Bonds issued on or before 12/31/10	Bonds issued on or after 01/01/11	Prior ROPS RPTTF and Reserve Balances retained for future period(s)	Rent, Grants, Interest, etc.	Non-Admin and Admin	Comments					
			-, -							
n amount										
stribution from the										
				2,336,420						
tions	÷									
	Ē			1,968,784						
0/17) unts distributed as										
				0						
17 PPA form										
	No entry	required		367,636						
1	Bonds issued on or before 12/31/10 6) amount stribution from the ions 17 PPA form	Bonds issued on or before 12/31/10 Bonds issued on or after 01/01/11 Bonds issued on	Bonds issued on or before 12/31/10 Bonds issued on or before 12/31/10 Bonds issued on or before 12/31/10 Bonds issued on or after 01/01/11 Bonds issued	Bond Proceeds Reserve Balance Other Funds Bonds issued on or before 12/31/10 Bonds issued on or after 01/01/11 Funds for future period(s) Interest, etc. 6) amount Stribution from the Renth of future period for future period fo	Bond Proceeds Bond Proceeds Reserve Balance Prior ROPS RPTTF and Reserve Balances retained for future period(s) Other Funds RPTTF Prior ROPS RPTTF and Reserve Balances retained for future period(s) Interest, etc. 1,968,784 1,968,784 No entry required					

	Mission Viejo Recognized Obligation Payment Schedule (ROPS 19-20) - Notes July 1, 2019 through June 30, 2020							
em#	Notes/Comments							
	None							

City of Mission Viejo FY 19/20 Administrative Allowance Budget

		Fiscal Year 2019/2020 Costs	Hourly Rate	Successor Agency Hours	<u>SA</u> Administration	% of Time Spent on SA Issues
Direct Personnel Costs	Department					
City Manager	City Manager	\$ 324,864	\$ 156.18	60	\$ 9,371	2.88%
Assistant City Manager/Director of Public Services	City Manager	282,812	135.97	24	3,263	1.15%
Executive Administrator	City Manager	119,486	57.45	24	1,379	1.15%
Senior Executive Assistant	City Manager	35,422	34.06	24	817	1.15%
City Council	City Council	114,435	55.02	5	248	0.22%
City Clerk	City Clerk	243,857	117.24	4	410	0.17%
Deputy City Clerk	City Clerk	125,769	60.47	1	60	0.05%
Records Mangement Coordinator	City Clerk	106,351	51.13	4	205	0.19%
Director of Administrative Services	Administrative Services	250,633	120.50	550	66,273	26.44%
AS Manager-Treasury	Administrative Services	146,592	70.48	150	10,572	7.21%
AS Manager-Accounting	Administrative Services	141,625	68.09	61	4,153	2.93%
Treasury Analyst	Administrative Services	94,453	45.41	337	15,303	16.20%
Junior Accountant	Administrative Services	85,958	41.33	114	4,690	5.46%
Junior Accountant	Administrative Services	86,144	41,42	28	1,160	1.35%
Payroll Technician	Administrative Services	60,278	28.98	78	2,260	3.75%
AS Manager-Budget & Purchasing	Administrative Services	141,204	67.89	30	2,037	1.44%
AS Analyst	Administrative Services	105,070	50.51	36	1,819	1.73%
Accounting Information Specialist	Administrative Services	112,187	67.42	10	657	0.47%
Senior Department Assistant	Administrative Services	90,821	43.66	37	1,594	1.75%
Information Technology Specialist	Information Technology	152,187	73.17	62	4,536	2.98%
Total Direct Personnel Costs	• • • • • • • • • • • • • • • • • • • •	102,101	10.11	V 2	130,808	2.0070
Total Direct Tersoniler Costs					130,000	
Other Direct Costs Attorneys						
Stradling Yocca Carlson & Rauth	SA Attorney				15,000	
Lozano Smith	City Attorney				5,000	
Audit Fees					2,000	
Bank Fees/Delivery/Postage/Office Supplies/Meeti	•				1,000	
Total Other Direct Cost					23,000	
indicate Conta (applied at 20/ aftertal and)						
Indirect Costs (applied at 3% of total cost)		740,000			04 444	
General Liability Insurance		713,698			21,411	
Workers Compensation Insurance		177,573			5,327	
Property Insurance		264,513			7,935	
Employee Fidelity Bonds		8,084			243	
Property Tax Administration	***	203,000			6,090	
Retiree Insurance Program (allocated at 5.6% of page 1875)	ayroll)	-				
City Hall Facility Maintenance		558,442			16,753	
City Council Admin (non payroll)		36,808			1,104	
City Clerk Council Support (non payroli)		2,450			74	
City Clerk Records Mgmt (non payroll)		6,175			185	
Admin Service Admin (non payroll)		13,807			414	
Acctg/Payroll (non payroll/excludes audit)		40,907			1,227	
Treasury (non payroll)		84,540			2,536	
Human Resources (non payroll)					3,818	
Community Development Admin		231,994			6,960	
Community Development-Current Planning		445,889			13,377	
Taping/broadcasting SA meetings		27,120			814	
Maintenance of Document Management System		24,000			720	
Maintenance of Granicus System (on line streamin	g of meetings)	18,700			561	
Maintenance of Ektron (website content mgmt)		10,000			300	
Maintenance of Accounting System		72,000			2,160	
Maintenance of Misc Systems (Microsoft, Cylance,	Trustwave, Maas 360, App	237,500			7,125	
General Office Supplies and maintenance supplies		27,735			832	
Finance Copier/Equipment Maintenance		40,750			1,223	
Total Indirect Cost	:				101,189	
			_			
	Total Successor Agency	Admin Allow	rance Cos	t	\$ 254,997	